# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	BILL MCGLYNN	Page 1 of 4
		ION OF CONCRETE SIDEWALK AND INCIDENTAL (DISTRICT 17) BY THE COMMON COUNCIL
Contract Number:	7903	Payment Number: 4
DO NOT WRITE	E IN THIS BOX - TO BE COMPLETE	ED BY CITY ENGINEERING PERSONNEL ONLY
TOTAL FROM PAGE:	4	725,562.57
LESS RETAINAGE:		25,092.63
SUBTOTAL:		700,469.94
LESS PREVIOUS PA	YMENTS:	449,295.44
CURRENT PAYMENT	DUE:	\$ 251,174.50
The under by this a	pplication for payment has been complete the current payment is now due.	eest of his/her knowledge the work covered eted in accordance with the contract documents,
CONTRA	ACTOR: RAYMOND P. CATTELL, IN	IC. DATE
The under by this a		est of his/her knowledge, the work covered eted in accordance with the contract documents, the amount certified.  S-17-17  DATE
PLEASE PROVIDE THE	TIME PERIOD FOR THIS PAYMENT REG	
PLEASE PROVIDE THE NEW SCHOOL AR'S LANDSCAT	H TRUCKIOG	TO: <u>\(\rho\lambda\lambda\rhi\rhi\rhi\rhi\rhi\rhi\rhi\rhi\rhi\rhi</u>
NOTE: SIGNED	PAYMENT REQUEST SHALL BE SUBMITI	TED TO THE ENGINEER/INSPECTOR.

PARTIAL PAYMENTS CAN BE PROCESSED EVERY TWO WEEKS.

## CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 17) BY THE COMMON COUNCIL CONTRACT NO. 7903
PAYMENT NO. 4

TAIME	N1 NO. 4	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
ACCOU	NT NO. 11465-403-200												
10802	ROOT CUTTING - SIDEWALK	400.00	L.F.	\$3.00	\$1,200.00		453.00	\$1,359.00	0.00	\$0.00	453.00	\$1,359.00	113.3%
20101	EXCAVATION CUT	20.00	C.Y.	\$25.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20218	CRUSHED STONE	30.00	TON	\$10.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	90.00	S.Y.	\$12.50	\$1,125.00		52.99	\$662.37	84.71	\$1,058.88	137.70	\$1,721.25	153.0%
20302	SAWCUT CONCRETE FULL DEPTH	100.00	L.F.	\$2.50	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20303	SAWCUT BITUMINOUS PAVEMENT	50.00	L.F.	\$2.50	\$125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	75.00	S.F.	\$5.00	\$375.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20401	CLEARING	10.00	I.D.	\$5.00	\$50.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20403	GRUBBING	10.00	I.D.	\$5.00	\$50.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20501	ADJUST SEWER ACCESS STRUCTURE	6.00	EACH	\$500.00	\$3,000.00		3.00	\$1,500.00	7.00	\$3,500.00	10.00	\$5,000.00	166.7%
20502	ADJUST CATCH BASIN	1.00	EACH	\$600.00	\$600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20701	TERRACE SEEDING	90.00	S.Y.	\$3.00	\$270.00		52.99	\$158.97	84.71	\$254.13	137.70	\$413.10	153.0%
21061	EROSION MATTING	90.00	S.Y.	\$4.00	\$360.00		52.99	\$211.96	84.71	\$338.84	137.70	\$550.80	153.0%
30101	#4 EPOXY COATED PAVEMENT TIE	5.00	EACH	\$5.00	\$25.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30301	5 INCH CONCRETE SIDEWALK	3,350.00	S.F.	\$8.50	\$28,475.00		628.50	\$5,342.25	994.13	\$8,450.11	1,622.63	\$13,792.36	48.4%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	100.00	S.F.	\$9.20	\$920.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30330	PROFILE SAWCUT	5.00	L.F.	\$30.00	\$150.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	1,056.00	S.F.	\$5.00	\$5,280.00		400.00	\$2,000.00	396.00	\$1,980.00	796.00	\$3,980.00	75.4%
30501	REMOVE AND REPLACE 5 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	80,900.00	S.F.	\$9.25	\$748,325.00		19,320.89	\$178,718.23	41,669.55	\$385,443.34	60,990.44	\$564,161.57	75.4%

### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

RAYMOND P. CATTELL, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 17) BY THE COMMON COUNCIL CONTRACT NO. 7903

	ACT NO. 7903 NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30502	REMOVE AND REPLACE 7 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	16,400.00	S.F.	\$9.85	\$161,540.00		5,782.51	\$56,957.72	6,078.90	\$59,877.17	11,861.41	\$116,834.89	72.3%
30503	REMOVE AND REPLACE CONCRETE STEPS - SIDEWALK REPLACEMENT PROGRAM	25.00	S.F.	\$50.00	\$1,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30504	REMOVE EXISTING ASPHALT SIDEWALK & DRIVEWAY - SIDEWALK REPLACEMENT PROGRAM	150.00	S.F.	\$5.00	\$750.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30505	REMOVE AND REPLACE CONCRETE CURB & GUTTER - SIDEWALK REPLACEMENT PROGRAM	275.00	L.F.	\$40.00	\$11,000.00		67.20	\$2,688.00	96.20	\$3,848.00	163.40	\$6,536.00	59.4%
30506	RESET BRICK PAVERS - SIDEWALK REPLACEMENT PROGRAM	75.00	S.F.	\$30.00	\$2,250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40201	HMA PAVEMENT TYPE E-0.3	240.00	SY	\$50.00	\$12,000.00		40.43	\$2,021.50	99.85	\$4,992.50	140.28	\$7,014.00	58.5%
40364	ADJUST INLET CASTING, TYPE "H" - RESURFACING	1.00	EACH	\$250.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90001	HES CONCRETE, REMOVE AND REPLACE 7 INCH CONCRETE SIDEWALK - SIDEWALK REPLACEMENT PROGRAM	200.00	S.F.	\$12.00	\$2,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			•	\$982,820.00			\$251,620.00	_	\$469,742.97	_	\$721,362.97	73.40%
ACCOU	NT NO. 85131-54425												
20101	EXCAVATION CUT	10.00	C.Y.	\$25.00	\$250.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20218	CRUSHED STONE	10.00	TON	\$10.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20221	TOPSOIL	10.00	S.Y.	\$12.50	\$125.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
20701	TERRACE SEEDING	10.00	S.Y.	\$3.00	\$30.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21061	EROSION MATTING	10.00	S.Y.	\$4.00	\$40.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30302	7 INCH CONCRETE SIDEWALK & DRIVE	100.00	S.F.	\$9.20	\$920.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
30330	PROFILE SAWCUT	10.00	L.F.	\$30.00	\$300.00		0.00	\$0.00	46.30	\$1,389.00	46.30	\$1,389.00	463.0%
30340	CURB RAMP DETECTABLE WARNING FIELDS	24.00	S.F.	\$5.00	\$120.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%

### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

#### RAYMOND P. CATTELL, INC.

ANNUAL CONSTRUCTION AND RECONSTRUCTION OF CONCRETE SIDEWALK AND INCIDENTAL CONCRETE CURB & GUTTER WORK ORDERED (DISTRICT 17) BY THE COMMON COUNCIL **CONTRACT NO. 7903** 

	NT NO. 4	1	2	3	4	5	6	7	8	9	****** #10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
30505	REMOVE AND REPLACE CONCRETE CURB & GUTTER - SIDEWALK REPLACEMENT PROGRAM	25.00	L.F.	\$40.00	\$1,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
40201	HMA PAVEMENT TYPE E-0.3	10.00	SY	\$50.00	\$500.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90002	BUS PAD	1,750.00	S.F.	\$10.00	\$17,500.00		100.00	\$1,000.00	181.06	\$1,810.60	281.06	\$2,810.60	16.1%
	SUBTOTALS			•	\$20,885.00		!	\$1,000.00	d	\$3,199.60	<b>!</b>	\$4,199.60	20.11%
CONTR	ACT TOTALS			;	\$1,003,705.00			\$252,620.00	=	\$472,942.57	•	\$725,562.57	<del>-</del> 72.29%